BHAFEEICTERMZERALBKEXRDHY HIRFAFT
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四角形


BEARRE SHMEEICTRMEEALIEKEZDHY SR LE

% i R - IR i B % B B T # wm =
[=k:3E 8,991,710
BKEEDHY HRFAER 8,991,710
BKEEDHY HRFAER 8,991,710
ETEE R 386, 800
STEE R 386, 800
1 StE#E R 1.00 386, 800 386, 800
=

ICTSEAIC & 2BKEEXEDORKRET 4,936, 800
THERBKEEFIEOEE 1,396, 000
2 TFERIBKEEFIEDOERE 5.00 2179, 200 1,396, 000

EHR (7—X)
BKEEFIBIZHE T HFREDOHE 1, 359, 500
3 BKEEFIEICE T HFREDHL 5.00 271,900 1,359, 500

EHR (7—X)
BKIEEICR D ICTHTDEE 361, 600
4 BKIEZEITHRDICTH T DR 2.00 180, 800 361, 600

EHR (7—X)
ICTH: 7 D & A tE DR ET 1,819, 700
5 ICTH AT DB A4 DHRET 1.00 1,819, 700 1,819, 700

=X
BKELEICTHTOMERICEHEKED 1,484, 300
ZHEfE DIRET

BKEE~AOKETREEDEE 543, 800




BEARRE SHMEEICTRMEEALIEKEZDHY SR LE

6 BKEE~DRBETREMEDEE 2.00 271,900 543, 800
EHR (7—X)

ICTEEAIZ & B 45kBKMEEDORE 940, 500
T ICTEEAIZ & KB KIEEDRKRET 1.00 940, 500 940, 500

=
ICT#K Y KRt DR 1,231,200
BRET= DR 552, 600
8 RE=DFHE 3.00 184, 200 552, 600

[=]
BESEMDER 678, 600
9 REASEHDOER 3.00 226, 200 678, 600

[=]
Wk - W& 396, 300
Rk - W& 396, 300
10 AT 1.00 109, 800 109, 800

[=]
11 RS 1.00 109, 800 109, 800

[=]
12 &HR|mE 1.00 176, 700 176, 700

[=]
BEY 401, 900
EBTRREERK 401, 900
13 EHTREEER 1.00 401, 900 401, 900

=
EERE 154, 410
EHRARE 84,410




BEARRE SHMEEICTRMEEALIEKEZDHY SR LE

14 EBRARE 1.00 84,410 84,410
=

(D28 70, 000

15 EBFREH 1.00 70, 000 70, 000
=X




wiEx SIAEEICTHMZFALIBKIELEDHY A RFTET

4 g B - K& B % = L] ® = W=
BRI 8,837,300 + 154,410 E: 1.00 8,991, 710
BEEAGE E= 8 1.00 8,837,300
BE#RE E= 8 1.00 154, 410
T O IR 8,837,300 x 53.85% ( 35% = (1 — 35%) ) = 1.00 4,758, 886
KHRIE 8,991,710 + 4,758, 886 E: 1.00 13, 750, 596
—REEES 13,750,596 x 53.85% ( 35% + (1 — 35%) ) — 5,291 = 1.00 7,399, 404
KBS 13,750,596 + 7,399,404 E- 1.00 21, 150, 000
HBEREALE 21,150,000 x 10.00% E- 1.00 2,115,000
¥BERH 21,150,000 + 2, 115,000 E- 1.00 23, 265, 000




K& -ET/\vr—2

DHAFEEICTRINEERALIBKIEXDHY HRAER

=1
B - FHEER 1RHY
% 7 R - AR R B3 = B & # & B &
HEnR
A 1.00 66, 900. 00 66, 900
EX: T TC D)
A 1.50 58, 600. 00 87,900
A (A)
A 2.50 51, 200. 00 128, 000
A (B)
A 2.50 41, 600. 00 104, 000
& i 386, 800. 00 386, 800
5:2
& TRAEKEEFIBEOERE 1EE (5—R) #HY
% 7 R - AR R B3 = B & # & B &
A (A)
A 1.50 51, 200. 00 76, 800
A (B)
A 1.50 41, 600. 00 62, 400
HEm (C)
A 2.50 32, 800. 00 82, 000
Hftt &
A 2.00 29, 000. 00 58, 000
& i 279, 200. 00 279, 200
&S :3
B BKEEFIBIZETSEEOHE 1EE (5—R) #HUY
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 1.50 58, 600. 00 87,900
A (A)
A 1.50 51, 200. 00 76, 800
A (B)
A 1.00 41, 600. 00 41, 600
HEm (C)
A 2.00 32, 800. 00 65, 600
& it 271, 900. 00 271, 900




K& -ET/\vr—2

DHAFEEICTRINEERALIBKIEXDHY HRAER

EE .4
L5 BIKEZEICERDICTHATOEE 1EE (5—R) #HUY
% 7 R - AR R B3 = B £ & B &
A (A)
A 1.50 51, 200. 00 76, 800
A (B)
A 2.50 41, 600. 00 104, 000
& it 180, 800. 00 180, 800
EE =)
¥ - [CTHE M O ERA M D RET 1K%Y
%4 7 R - AR R B3 = B £ # B &
EX: T TC D)
A 8.50 58, 600. 00 498, 100
A (A)
A 10. 00 51, 200. 00 512, 000
A (B)
A 10. 00 41, 600. 00 416, 000
HEm (C)
A 12.00 32, 800. 00 393, 600
& it 1, 819, 700. 00 1,819, 700
ES:6
B BKEEADORBETREMDORE 1EE (5—R) #HUY
% 7 R - AR R B3 = B £ & B &
EX: T TC D)
A 1.50 58, 600. 00 87,900
A (A)
A 1.50 51, 200. 00 76, 800
A (B)
A 1.00 41, 600. 00 41, 600
HEm (C)
A 2.00 32, 800. 00 65, 600
& it 271, 900. 00 271, 900




RETR-EIT/ \vr— AFAEEICTRMEERALBKEZDOHY HIRT LT

E&S:7
BF : [CTEAIZ & A2EHBKEEDRE 1RHY
% 7 R - AR R B3 H 2 B & # W = B &
EX: T TC D)
A 4.50 58, 600. 00 263, 700
A (A)
A 4.50 51, 200. 00 230, 400
A (B)
A 6.00 41, 600. 00 249, 600
HEm (C)
A 6.00 32, 800. 00 196, 800
& it 940, 500. 00 940, 500
S :8
& RIS ORE H=ED)
% 7 R - AR R B3 H 2 B & # W = B &
EX: T TC D)
A 1.00 58, 600. 00 58, 600
A (A)
A 1.00 51, 200. 00 51, 200
A (B)
A 1.00 41, 600. 00 41, 600
HEm (C)
A 1.00 32, 800. 00 32, 800
& it 184, 200. 00 184, 200
=)
B REASBEHOER H=ED)
% 7 R - AR R B3 H 2 B & # W = B &
EX: T TC D)
A 1.00 58, 600. 00 58, 600
A (A)
A 1.50 51, 200. 00 76, 800
A (B)
A 1.00 41, 600. 00 41, 600
HEm (C)
A 1.50 32, 800. 00 49, 200
& it 226, 200. 00 226, 200




K& -ET/\vr—2

DHAFEEICTRINEERALIBKIEXDHY HRAER

H5:10
2 . BATHE HEER
g R - KT B = B M | # w %
FEHERAR (BEH
A 1.00 58, 600. 00 58, 600
A (A)
A 1.00 51, 200. 00 51, 200
& it 109, 800. 00 109, 800
#5511
AF : hEHRE 1EHY
g R - BAK~TiE B = B M | # i %
FEHERAR (BEH
A 1.00 58, 600. 00 58, 600
BEm (A)
A 1.00 51, 200. 00 51, 200
& it 109, 800. 00 109, 800
H5:12
2 . ZB|E HEED)
g R - KT B = B M | # w %
HER
A 1.00 66, 900. 00 66, 900
FEHERAR (BEH
A 1.00 58, 600. 00 58, 600
A (A)
A 1.00 51, 200. 00 51, 200
& it 176, 700. 00 176, 700
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DHAFEEICTRINEERALIBKIEXDHY HRAER

H5 13
B . EBTEHEEER 14y
2 Lo R - KT B B = B M € &8 # w %
FEHERAR (BEH
A 1.50 58, 600. 00 87,900
A (A)
A 2.50 51, 200. 00 128, 000
B (B)
A 2.50 41, 600. 00 104, 000
HAf (C)
A 2.50 32, 800. 00 82, 000
& it 401, 900. 00 401, 900
H5: 14
2% EHARE 14y
2 Lo R - KT B B = B M € &8 # w %
EHARE
= 1.00 84, 410.00 84,410
& it 84,410.00 84,410
H5 : 15
2 EBHRSR 14y
2 Lo R - KT B B = B M € &8 # w %
(BRRRE
= 1.00 70, 000. 00 70, 000
& it 70, 000. 00 70, 000




